

Item	Color	Qty	Concept Uniforms				GPSA Group/Natale Sporting Goods				Pyramid School Products			
			Size	Cost	Ext	Brand	Size	Cost	Ext	Brand	Size	Cost	Ext	Brand
Long sleeve t-shirt with pocket	Royal Blue	5	S-XL	\$ 16.55	\$ 82.75	Port & Co	S-XL	\$ 16.89	\$ 84.45	Port & Co	S-XL	\$ -	\$ -	
	Royal Blue	1	2XL	\$ 18.85	\$ 18.85	Port & Co	2XL	\$ 19.27	\$ 19.27	Port & Co	2XL	\$ -	\$ -	
	Royal Blue	0	3XL	\$ 19.90	\$ -	Port & Co	3XL	\$ 20.32	\$ -	Port & Co	3XL	\$ -	\$ -	
	Royal Blue	0	4XL	\$ 19.90	\$ -	Port & Co	4XL	\$ 20.32	\$ -	Port & Co	4XL	\$ -	\$ -	
Long sleeve t-shirt with pocket	Yellow	6	S-XL	\$ 16.55	\$ 99.30	Port & Co	S-XL	\$ 16.89	\$ 101.34	Port & Co	S-XL	\$ -	\$ -	
	Yellow	3	2XL	\$ 18.85	\$ 56.55	Port & Co	2XL	\$ 19.27	\$ 57.81	Port & Co	2XL	\$ -	\$ -	
	Yellow	0	3XL	\$ 19.90	\$ -	Port & Co	3XL	\$ 20.32	\$ -	Port & Co	3XL	\$ -	\$ -	
	Yellow	0	4XL	\$ 19.90	\$ -	Port & Co	4XL	\$ 20.32	\$ -	Port & Co	4XL	\$ -	\$ -	
Long sleeve t-shirt w/o pocket	Royal Blue	4	S-XL	\$ 15.35	\$ 61.40	Port & Co	S-XL	\$ 13.67	\$ 54.68	Port & Co	S-XL	\$ -	\$ -	
	Royal Blue	1	2XL	\$ 16.50	\$ 16.50	Port & Co	2XL	\$ 15.67	\$ 15.67	Port & Co	2XL	\$ -	\$ -	
	Royal Blue	0	3XL	\$ 17.50	\$ -	Port & Co	3XL	\$ 15.67	\$ -	Port & Co	3XL	\$ -	\$ -	
	Royal Blue	0	4XL	\$ 17.50	\$ -	Port & Co	4XL	\$ 15.67	\$ -	Port & Co	4XL	\$ -	\$ -	
Long sleeve t-shirt w/o pocket	Yellow	0	S-XL	\$ 15.35	\$ -	Port & Co	S-XL	\$ 13.67	\$ -	Port & Co	S-XL	\$ -	\$ -	
	Yellow	0	2XL	\$ 16.50	\$ -	Port & Co	2XL	\$ 15.67	\$ -	Port & Co	2XL	\$ -	\$ -	
	Yellow	0	3XL	\$ 17.50	\$ -	Port & Co	3XL	\$ 15.67	\$ -	Port & Co	3XL	\$ -	\$ -	
	Yellow	0	4XL	\$ 17.50	\$ -	Port & Co	4XL	\$ 15.67	\$ -	Port & Co	4XL	\$ -	\$ -	
Short sleeve t-shirt with pocket	Royal Blue	27	S-XL	\$ 13.85	\$ 373.95	Port & Co	S-XL	\$ 13.98	\$ 377.46	Port & Co	S-XL	\$ -	\$ -	
	Royal Blue	10	2XL	\$ 16.15	\$ 161.50	Port & Co	2XL	\$ 17.48	\$ 174.80	Port & Co	2XL	\$ -	\$ -	
	Royal Blue	5	3XL	\$ 17.05	\$ 85.25	Port & Co	3XL	\$ 17.48	\$ 87.40	Port & Co	3XL	\$ -	\$ -	
	Royal Blue	0	4XL	\$ 17.05	\$ -	Port & Co	4XL	\$ 17.48	\$ -	Port & Co	4XL	\$ -	\$ -	
Short sleeve t-shirt with pocket	Yellow	26	S-XL	\$ 13.85	\$ 360.10	Port & Co	S-XL	\$ 13.98	\$ 363.48	Port & Co	S-XL	\$ -	\$ -	
	Yellow	0	2XL	\$ 16.15	\$ -	Port & Co	2XL	\$ 17.48	\$ -	Port & Co	2XL	\$ -	\$ -	
	Yellow	0	3XL	\$ 17.05	\$ -	Port & Co	3XL	\$ 17.48	\$ -	Port & Co	3XL	\$ -	\$ -	
	Yellow	5	4XL	\$ 17.05	\$ 85.25	Port & Co	4XL	\$ 17.48	\$ 87.40	Port & Co	4XL	\$ -	\$ -	
Short sleeve t-shirt w/o pocket	Royal Blue	8	S-XL	\$ 12.10	\$ 96.80	Port & Co	S-XL	\$ 11.67	\$ 93.36	Port & Co	S-XL	\$ -	\$ -	
	Royal Blue	16	2XL	\$ 13.25	\$ 212.00	Port & Co	2XL	\$ 13.67	\$ 218.72	Port & Co	2XL	\$ -	\$ -	
	Royal Blue	0	3XL	\$ 15.90	\$ -	Port & Co	3XL	\$ 13.67	\$ -	Port & Co	3XL	\$ -	\$ -	
	Royal Blue	5	4XL	\$ 15.90	\$ 79.50	Port & Co	4XL	\$ 13.67	\$ 68.35	Port & Co	4XL	\$ -	\$ -	
Short sleeve t-shirt w/o pocket	Yellow	3	S-XL	\$ 12.10	\$ 36.30	Port & Co	S-XL	\$ 11.67	\$ 35.01	Port & Co	S-XL	\$ -	\$ -	
	Yellow	0	2XL	\$ 13.25	\$ -	Port & Co	2XL	\$ 13.67	\$ -	Port & Co	2XL	\$ -	\$ -	
	Yellow	0	3XL	\$ 15.90	\$ -	Port & Co	3XL	\$ 13.67	\$ -	Port & Co	3XL	\$ -	\$ -	
	Yellow	0	4XL	\$ 15.90	\$ -	Port & Co	4XL	\$ 13.67	\$ -	Port & Co	4XL	\$ -	\$ -	
Short sleeve-Knit golf shirt	Royal Blue	9	S-XL	\$ 14.25	\$ 128.25	Port & Co	S-XL	\$ 17.60	\$ 158.40	Port Authority	S-XL	\$ -	\$ -	
	Royal Blue	3	2XL	\$ 17.85	\$ 53.55	Port & Co	2XL	\$ 19.67	\$ 59.01	Port Authority	2XL	\$ -	\$ -	

Item	Color	Qty	Concept Uniforms				GPSA Group/Natale Sporting Goods				Pyramid School Products			
			Size	Cost	Ext	Brand	Size	Cost	Ext	Brand	Size	Cost	Ext	Brand
	Royal Blue	0	3XL	\$ 19.40	\$ -	Port & Co	3XL	\$ 21.23	\$ -	Port Authority	3XL	\$ -	\$ -	
	Royal Blue	0	4XL	\$ 19.40	\$ -	Port & Co	4XL	\$ 21.23	\$ -	Port Authority	4XL	\$ -	\$ -	
Short sleeve-Knit golf shirt	Yellow	0	S-XL	\$ 14.25	\$ -	Port & Co	S-XL	\$ 17.67	\$ -	Port Authority	S-XL	\$ -	\$ -	
	Yellow	0	2XL	\$ 17.85	\$ -	Port & Co	2XL	\$ 19.67	\$ -	Port Authority	2XL	\$ -	\$ -	
	Yellow	0	3XL	\$ 19.40	\$ -	Port & Co	3XL	\$ 21.23	\$ -	Port Authority	3XL	\$ -	\$ -	
	Yellow	0	4XL	\$ 19.40	\$ -	Port & Co	4XL	\$ 21.23	\$ -	Port Authority	4XL	\$ -	\$ -	
Short sleeve work shirt	Navy	18	S-XL	\$ 23.75	\$ 427.50	Red Kap	S-XL	\$ 23.67	\$ 426.06	Red Kap SP24	S-XL	\$ -	\$ -	
	Navy	1	2XL	\$ 23.75	\$ 23.75	Red Kap	2XL	\$ 26.67	\$ 26.67	Red Kap SP25	2XL	\$ -	\$ -	
	Navy	8	3XL	\$ 23.75	\$ 190.00	Red Kap	3XL	\$ 26.67	\$ 213.36	Red Kap SP26	3XL	\$ -	\$ -	
	Navy	0	4XL	\$ 23.75	\$ -	Red Kap	4XL	\$ 26.67	\$ -	Red Kap SP27	4XL	\$ -	\$ -	
Long sleeve work shirt	Navy	8	S-XL	\$ 23.95	\$ 191.60	Red Kap	S-XL	\$ 26.75	\$ 214.00	Red Kap SP14	S-XL	\$ -	\$ -	
	Navy	2	2XL	\$ 23.95	\$ 47.90	Red Kap	2XL	\$ 29.75	\$ 59.50	Red Kap SP15	2XL	\$ -	\$ -	
	Navy	0	3XL	\$ 23.95	\$ -	Red Kap	3XL	\$ 29.75	\$ -	Red Kap SP16	3XL	\$ -	\$ -	
	Navy	0	4XL	\$ 23.95	\$ -	Red Kap	4XL	\$ 29.75	\$ -	Red Kap SP17	4XL	\$ -	\$ -	
Mens Ready Prest Pants	Navy	13	28-60	\$ 20.35	\$ 264.55	Red Kap	27-42	\$ 24.67	\$ 320.71	Red Kap	28-50	\$ -	\$ -	
	Navy	0		\$ 20.35	\$ -	Red Kap	44-60	\$ 28.67	\$ -	Red Kap	52-66	\$ -	\$ -	
Womens Ready Prest Pants	Navy	5	2-24	\$ 20.35	\$ 101.75	Red Kap	27-42	\$ 24.67	\$ 123.35	Red Kap		\$ -	\$ -	
	Navy	0		\$ 20.35	\$ -	Red Kap	44-60	\$ 28.67	\$ -	Red Kap		\$ -	\$ -	
Mens Side-Elastic Work Pant	Navy	15	28-46	\$ 21.95	\$ 329.25	Red Kap	28-42	\$ 25.67	\$ 385.05	Red Kap	All	\$ -	\$ -	
	Navy	0		\$ 21.95	\$ -	Red Kap	44-60	\$ 28.67	\$ -	Red Kap	All	\$ -	\$ -	
Womens Side-Elastic Pant	Navy	7	2-24	\$ 21.95	\$ 153.65	Red Kap	28-42	\$ 25.67	\$ 179.69	Red Kap	All	\$ -	\$ -	
	Navy	0		\$ 21.95	\$ -	Red Kap	44-60	\$ 28.67	\$ -	Red Kap	All	\$ -	\$ -	
Mens Cotton Work Pant	Navy	24	28-46	\$ 26.25	\$ 630.00	Red Kap		\$ 49.88	\$ 1,197.12	Red Kap	All	\$ -	\$ -	
	Navy	0		\$ 26.25	\$ -	Red Kap		\$ 54.88	\$ -	Red Kap	All	\$ -	\$ -	
Womens Cotton Work Pant	Navy	0	N/A	\$ -	\$ -			\$ 49.88	\$ -	Red Kap	All	\$ -	\$ -	
	Navy	0		\$ -	\$ -			\$ 59.88	\$ -	Red Kap	All	\$ -	\$ -	
Mens Work Shorts	Navy	22	28-46	\$ 13.95	\$ 306.90	Red Kap		\$ 54.88	\$ 1,207.36	Red Kap	All	\$ -	\$ -	
	Navy	0		\$ 13.95	\$ -	Red Kap		\$ 59.88	\$ -	Red Kap	All	\$ -	\$ -	
Womens Work Shorts	Navy	3	2-24	\$ 13.95	\$ 41.85	Red Kap		\$ 54.88	\$ 164.64	Red Kap	All	\$ -	\$ -	
	Navy	0		\$ 13.95	\$ -	Red Kap		\$ 59.88	\$ -	Red Kap	All	\$ -	\$ -	
Mens Cargo Work Shorts	Navy	82	28-46	\$ 23.85	\$ 1,955.70	Red Kap		\$ 27.88	\$ 2,286.16	Red Kap	All	\$ -	\$ -	
	Navy	0		\$ 23.85	\$ -	Red Kap		\$ 30.88	\$ -	Red Kap	All	\$ -	\$ -	
Womens Cargo Work Shorts	Navy	8	N/A	\$ -	\$ -			\$ 27.88	\$ 223.04	Red Kap	All	\$ -	\$ -	
	Navy	0		\$ -	\$ -			\$ 30.88	\$ -	Red Kap	All	\$ -	\$ -	

Item	Color	Qty	Concept Uniforms				GPSA Group/Natale Sporting Goods				Pyramid School Products			
			Size	Cost	Ext	Brand	Size	Cost	Ext	Brand	Size	Cost	Ext	Brand
Sweatshirt-Crewneck	Navy	2	S-XL	\$ 24.90	\$ 49.80	Hanes	S-XL	\$ 20.67	\$ 41.34	Port & Co	S-XL	\$ -	\$ -	
	Navy	0	2XL	\$ 27.00	\$ -	Hanes	2XL	\$ 21.67	\$ -	Port & Co	2XL	\$ -	\$ -	
	Navy	0	3XL	\$ 30.25	\$ -	Hanes	3XL	\$ 21.67	\$ -	Port & Co	3XL	\$ -	\$ -	
	Navy	0	4XL	\$ 30.25	\$ -	Hanes	4XL	\$ 21.67	\$ -	Port & Co	4XL	\$ -	\$ -	
Sweatshirt-Crewneck	Yellow	1	S-XL	\$ 23.15	\$ 23.15	Jeerzes	S-XL	\$ 20.67	\$ 20.67	Port & Co	S-XL	\$ -	\$ -	
	Yellow	1	2XL	\$ 24.95	\$ 24.95	Jeerzes	2XL	\$ 21.67	\$ 21.67	Port & Co	2XL	\$ -	\$ -	
	Yellow	0	3XL	\$ 28.90	\$ -	Jeerzes	3XL	\$ 21.67	\$ -	Port & Co	3XL	\$ -	\$ -	
	Yellow	1	4XL	\$ 28.90	\$ 28.90	Jeerzes	4XL	\$ 21.67	\$ 21.67	Port & Co	4XL	\$ -	\$ -	
Sweatshirt-Hooded Pullover	Navy	5	S-XL	\$ 27.70	\$ 138.50	Port & Co	S-XL	\$ 28.67	\$ 143.35	Jerzees	S-XL	\$ -	\$ -	
	Navy	1	2XL	\$ 30.65	\$ 30.65	Port & Co	2XL	\$ 37.23	\$ 37.23	Jerzees	2XL	\$ -	\$ -	
	Navy	0	3XL	\$ 33.25	\$ -	Port & Co	3XL	\$ 41.88	\$ -	Jerzees	3XL	\$ -	\$ -	
	Navy	0	4XL	\$ 33.25	\$ -	Port & Co	4XL		\$ -		4XL	\$ -	\$ -	
Sweatshirt-Hooded Pullover	Yellow	1	S-XL	\$ 27.70	\$ 27.70	Port & Co	S-XL	\$ 28.67	\$ 28.67	Jerzees	S-XL	\$ -	\$ -	
	Yellow	1	2XL	\$ 30.65	\$ 30.65	Port & Co	2XL	\$ 37.23	\$ 37.23	Jerzees	2XL	\$ -	\$ -	
	Yellow	0	3XL	\$ 33.25	\$ -	Port & Co	3XL	\$ 41.88	\$ -	Jerzees	3XL	\$ -	\$ -	
	Yellow	0	4XL	\$ 33.25	\$ -	Port & Co	4XL		\$ -		4XL	\$ -	\$ -	
Sweatshirt-Hooded w/Zipper (not thermal)	Navy	0	S-XL	\$ 28.50	\$ -	Port & Co	S-XL	\$ 27.67	\$ -	Port & Co	S-XL	\$ -	\$ -	
	Navy	1	2XL	\$ 31.25	\$ 31.25	Port & Co	2XL	\$ 30.93	\$ 30.93	Port & Co	2XL	\$ -	\$ -	
	Navy	0	3XL	\$ 36.25	\$ -	Port & Co	3XL	\$ 30.93	\$ -	Port & Co	3XL	\$ -	\$ -	
	Navy	0	4XL	\$ 36.25	\$ -	Port & Co	4XL	\$ 30.93	\$ -	Port & Co	4XL	\$ -	\$ -	
Sweatshirt-Hooded w/Zipper (not thermal)	Yellow	0	S-XL	\$ 28.50	\$ -	Port & Co	S-XL	\$ 27.67	\$ -	Port & Co	S-XL	\$ -	\$ -	
	Yellow	0	2XL	\$ 31.25	\$ -	Port & Co	2XL	\$ 30.93	\$ -	Port & Co	2XL	\$ -	\$ -	
	Yellow	0	3XL	\$ 36.25	\$ -	Port & Co	3XL	\$ 30.93	\$ -	Port & Co	3XL	\$ -	\$ -	
	Yellow	1	4XL	\$ 36.25	\$ 36.25	Port & Co	4XL	\$ 30.93	\$ 30.93	Port & Co	4XL	\$ -	\$ -	
Sweatshirt Hooded w/zipper (thermal)	Navy	7	S-XL	\$ 53.50	\$ 374.50	Port & Co	S-XL	\$ 60.67	\$ 424.69	Cornerstone	S-XL	\$ -	\$ -	
	Navy	0	2XL	\$ 54.80	\$ -	Port & Co	2XL	\$ 61.98	\$ -	Cornerstone	2XL	\$ -	\$ -	
	Navy	0	3XL	\$ 57.40	\$ -	Port & Co	3XL	\$ 64.98	\$ -	Cornerstone	3XL	\$ -	\$ -	
	Navy	0	4XL	\$ 58.70	\$ -	Port & Co	4XL	\$ 66.98	\$ -	Cornerstone	4XL	\$ -	\$ -	
Sweatshirt Hooded w/zipper (thermal)	Yellow	2	S-XL	\$ 53.50	\$ 107.00	Port & Co	S-XL	\$ -	\$ -		S-XL	\$ -	\$ -	
	Yellow	0	2XL	\$ 54.80	\$ -	Port & Co	2XL	\$ -	\$ -		2XL	\$ -	\$ -	

Item	Color	Qty	Concept Uniforms				GPSA Group/Natale Sporting Goods				Pyramid School Products			
			Size	Cost	Ext	Brand	Size	Cost	Ext	Brand	Size	Cost	Ext	Brand
	Yellow	0	3XL	\$ 57.40	\$ -	Port & Co	3XL	\$ -	\$ -		3XL	\$ -	\$ -	
	Yellow	1	4XL	\$ 58.70	\$ 58.70	Port & Co	4XL	\$ -	\$ -		4XL	\$ -	\$ -	
Hooded Jacket, Quilt Lined	Navy	1	S-XL	\$ 55.50	\$ 55.50	Port & Co	S-XL	\$ 110.00	\$ 110.00	Carhart	S-XL	\$ -	\$ -	
	Navy	1	2XL	\$ 56.80	\$ 56.80	Port & Co	2XL	\$ 110.00	\$ 110.00	Carhart	2XL	\$ -	\$ -	
	Navy	0	3XL	\$ 59.20	\$ -	Port & Co	3XL	\$ 115.00	\$ -	Carhart	3XL	\$ -	\$ -	
	Navy	0	4XL	\$ 60.50	\$ -	Port & Co	4XL	\$ 115.00	\$ -	Carhart	4XL	\$ -	\$ -	
	Navy	0	5XL		\$ -				\$ -			\$ -	\$ -	
Coveralls-Insulated	Navy	0	S-XL	\$ 59.30	\$ -	Red Kap	S-XL	\$ 67.99	\$ -	V Line	S-XL	\$ -	\$ -	
	Navy	0	2XL	\$ 59.30	\$ -	Red Kap	2XL	\$ 67.99	\$ -	V Line	2XL	\$ -	\$ -	
	Navy	0	3XL	\$ 59.30	\$ -	Red Kap	3XL	\$ 67.99	\$ -	V Line	3XL	\$ -	\$ -	
	Navy	0	4XL	\$ 59.30	\$ -	Red Kap	4XL	\$ 67.99	\$ -	V Line	4XL	\$ -	\$ -	
Bib Overalls-Insulated	Navy	0	S-XL	\$ 55.50	\$ -	Red Kap	S-XL	\$ 115.00	\$ -	Carhart	S-XL	\$ -	\$ -	
	Navy	0	2XL	\$ 55.50	\$ -	Red Kap	2XL	\$ 115.00	\$ -	Carhart	2XL	\$ -	\$ -	
	Navy	0	3XL	\$ 55.50	\$ -	Red Kap	3XL	\$ 115.00	\$ -	Carhart	3XL	\$ -	\$ -	
	Navy	0	4XL	\$ 55.50	\$ -	Red Kap	4XL	\$ 115.00	\$ -	Carhart	4XL	\$ -	\$ -	
Baseball Cap	Navy	0		\$ 15.95	\$ -			\$ 14.23	\$ -			\$ 16.99	\$ -	Pacific Headwear
	Gray	0		\$ 15.95	\$ -			\$ 14.23	\$ -			\$ 16.99	\$ -	Pacific Headwear
Total					\$ 7,746.50				\$ 10,141.70				\$ -	
					Womens Cotton Work Pants & Cargo Shorts - N/A				Yellow Sweatshirt Hooded w/zipper (thermal)- N/A					
Less Womens Cotton Work pants, cargo shorts, & yellow thermal hooded sweatshirt w/zipper					\$ 7,580.80				\$ 9,918.66					
*Quantities are for analysis purposes only and based on the quantities ordered last year, and are not necessarily the actual quantity that will be ordered.														